Fol chssh 2ol @ el 20174100l A4
2o 29 2GSl el ol

@ 43, 20V3 @ 5v3, 20V3
@)5+3, 253 @ 63, 20V3
® 63, 25V3

B ,

V3

(E0l) = - x10=5V3
(‘ga‘ol):%gxw? 100\/——25«/"




Th2 T1Rl 22 AABC 9 Ho| & oY A

@216 @ 126 ® 86
® 1V ® 2

A AcA ¥ BCe| =49 &-& Het oAt
BH = x&}1 5t CH = 12 — xo|th,
AABH ©Jl A

AH =AB -BH = 10> - »2 0|1
AACH 9| A

A =AC - CH =142 - (12 - x)?
A =102 — 2 = 142 — (12— x)2 o] A]
100 — x2 = 196 — 144 + 24x — x2
24x = 48

o K=2

ureba] 21 ZH4ZE ABH oA

AH= V102-22 =46 0|2 &

AABC 9] Hol= % x 12 x 46 = 246 o]t}




his

2l

3 wol go
TLBD < ), AT 9] Lol

171 8 91 A3 ABCD <A

®2v2 @3 @uvi

AR

Q

@ 52

® 6v2

BD=8V2°|E2 xx8V2=8x8
. x:4\/§




g
o
N

@ 3

@ 2cm

@ 3cm

@2\/§cm

® 4cm

B

=6V3(cm) (-

ﬁ:?xm

AG:GD=2:1("GEF

~ GD=6 3X§:2\/§(cm)




22 uHER ABCD £ 13 Zojtt. upEmro]
Hol7b 12v3 o]al, /B = 60° U m, o] upEro]
2] Aol =? A

@2v% @36 @46 @5V O 66

H A C 8 olom aABC 9] ol 63
D2 3 W) Pol o k1 shH Yol




ohe T3 Zol gatile] Aok 2v2 e A D
o

BD:BC= V2:1°]E2 BC =2
= Q9] Aol 20|22 IR E2 1

whebd ot 99 ol nx 12 = o]k,




Ap7kgo] obd L3t o] Foi7
AABC 9] Holg 78t

o
£

D)84 cm? @ 86 cm? ® 88cm?

@ 90cm? ® 92cm?

BH=agtsld 152 -a?2 =132 - (14-a)?, a =9
w2bA AH = V152 - 92 = 12( cm) ©] e},

1
B2 AABC = 5 x 14x 12 = 84(cm?)




